Math 2E Quiz 4 Afternoon - April 21st

Please write your name and ID on the front.

Show all of your work, and simplifv all vour answers. *There is a question on the back side.

1. Let B be the ball with radius 5 centered at (0,0.0). Compute
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You can leave the exponentiated term as is - you don’t need to multiply that term out.
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2. Consider Ry to be the trapezoidal region in R? with vertices ( 1,0), (2,0}, (0,2), (0,1). Consider
// COS (J_ I) dA.
y-+x

With the change of variable u = y — x, v = y + z, we will rewrite this integral in uv-variables.
(1) What is the Jacobian with this transformation?

(i) Draw the new region Sy, from applying this transformation to R;y. Label the boundary curves.
(111) Using (i) and (ii), write the integral in the uv variables, with correct bounds.
(iv) [*2pts Bonus*] Compute this integral.

You don't need to do part (iv) for full credit on the problemmn.
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